
2

HE /M /



d , 0,

0, 0.

A s B s

A s B s

s

A s B s s s
s s

s

/ /

HE /M /

*A s

s s

*

s

HE /M / A s B s
s s

s
p p

s s s

s

s
p p

s s s

s

HE /M /

s s s s s s s s s s
s s s s

s c s c s c s c

c a

c a

c

c

s
s 3s 4s



s s

s s s s s
s s s s
Re s

s s
s

s s s s s s

Re s D

K

s s

s s s sK
s s

s
s K

K s ss
s s s s

*W s s s

* s s
W s

s s

*W s
:s

*

s

dW s
ds s

HE /M / :
.W s

s

pp

p p p p

p p pc

p

p
p

p

c



HE /M /

c c

s

:
p p pc

p

p p

HE /M /

HE /M /

HE /M / E

HE M
c c c

4

4

4

c
c



HE /M /

E



2

-



33

E2 / /2M E 1,

E

c c


